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SHIKSHA VIKASH SAMITI, ODISHA
HALF YEARLY EXAMINATION 2024-2025

Class - VII Sub - English (W)

Time - 2howrs . .~ - ; Full marks - 90

1. . Answer the questions. (any four) - T Ax4=12
a) Why did Birsa go to the vﬂlage quack‘? What did

~'b)  What have the Govt. of India and many state Govts‘
done in the memory of Blrsa‘? |
.¢)  What were the rich man’s bounda.ty wa]ls like? What
~did he have for his protection?
d) What was the richman’ s only sorrow‘?
e) Kangaroas are marsuplals what does it mean?
f)  Kangaroo has along and powerﬁll ta,ll How does it
" use that? .
Answer the questions. (any four) . 2X 4=8 .
a)  Why should one un? . B
- b) | Why does the poet like to run through the meadow? -
©)  What does a tiger do all day long?
d) Why does the poet want to be a monlcey or a tiger?
~'e) Whydoes the poet say that trees are kind?
f)  Where do birds gather? Who touches the beam of
¥ the sum first? | ‘ :
Choose the correct altematives. : I X 5 =5
a) Amonkey . - '

the quack advise him?

(i) fries in the sky -
(i) dances inriver

. (iii) swims in'sea

(iv) jumps from branch to branch

[1]
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..~ Write about ten lines on any one of the following essays.- . -
| - 10

"b)  Whichword is similar in meaning to ‘coolair’?
(@) road (ii) . breeze “
- (i) greenfield  (iv) cheerful
~ ¢) . Birsa died in Ranchi Jainon "
) 30thApr11 1900 (i) 30th May 1900
(iif) 30th June 1900 (iv) 9th June 1900
d A group of: Kangaros hvmg to gether is called

@) herds o (ii) "ﬂock |
- (i)mobs - - (iv) crowd
e) The son thanked his fatheér for showing him

(1) how poor they were
(1)) how rich they were

e’ e e S N

(1ii) how happy they were
(iv) how unhappy they were -
" Write 'True’ or False'. s L 1X 5=
a) Trees sing song for children. (
b)- Birsa’s right leg was wounded. - (
. ¢) The poor people had artificial lamps (-
L - d), A Wallaby is as b1g as a.rabbit. . o ( _
e) . The tiger seatches for food at night. - ( )

a) Your Father '
. b)  Your Pradhan Acharya
¢)  The Ramy Season

Write a letter to your frlend mwtmg hun/her to your
blrtbday party B - ; |
: OI'. - ) - i I = . . ‘ * ! .: 6 .
| Wnte an application to your Pradhan Acharya to grant.
you leave for remaining penods ' |

[2]
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Match'A'with B. . 1% 525

' !A!

)

b

B
palatial - ' battle -
mnin Tullaby -
- kot * building
circus o the raindrops
_ drowsy | _ | . kangarbos
Re-arrange the words to make meéningﬁll senfences.
| C1X5=5
Birsa’s/day/ of/ number / by / the / followers / mcreased ‘
[ day /.
a/king / the / man / rich / lived / like / happily'/ there /.
¢  was/ elghteenthf cook/a / Englishman / centuiry / captaln/ |
' famous/james/. -
hold/trees/last/are /to/ the/ hght/ the/
¢)  all/long/a/plays/ day/ monkey/ dances/ and.
Do as directed. - 1% 10— 10
a)  The man said, “I have lost my keys.”
" (Change into indirect) o |
- They have changed the date fo the i:neeting. :
" (Change the voice) | -
¢) Use ‘drink’ as noun and make a sentence.
d) We should allow the animals to live freely in the
zoo. (Rewrite the sentence using ‘let”)
I can draw water from the well .,
(use ‘~self’ form) |
He is a lecturer English.
(Fill in the blank:using of/in/on)

131

https://ssvm.kalamachhuin.in/question-bank/



10.

1.

12,

b

g) Theywatchtelevision, |
* (Rewrite the sentence putting ‘ing’ to the verb)

h) thaeneb (or_d‘ér the jumbled letters and make al

word)
i)  bird - (Find out the silent Ietter)

j)  Rewrite the f()llowmg sentence like exﬁmple.

Ex - I met the dove yesterday
Ans - I meet the dove everyday
Q-1 did my homework yesterday.
Fill mthe blanks usmg the correct form of the words in bracket.

I1X5=35

a) Sugar'
b) * Our teacher is
c) The sky has

sweets. (taste) |

a picture now. (draw)
 black and dark. (become)

d) India the match yesterday (win)
e)  You_ my best friend. (be)
| Translate into Enghsh (any two) | 22X 2=4

(2) TR G26R 64 LHIQERIRCICR QIS 6 GaRieY
SIS | o | |
®) e QIRIIFIER Rlireiale e Seleml |

©) USQ SO CaNCY 68AQ AIQ AGEURI |-
erte the following sentence in line. |

The J ackal met the fox. | _ 5

Prdject work. : K o - 10

2,
0.#
N
0‘0
&
4.0

o
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